Ear Tag	Seller Name	Buyer	Ship To	Processor	Weight	Price	Value	Buy Fee	Sell Fee	Total Fee
310	Oedekoven, Kylee	Thurston Orthodontics, PC	Lower Valley Meats	Lower Valley Meats	259	\$16.00	\$4,144.00	\$41.44	\$124.32	\$165.76
314	Hall, Madisyn	Alert Security & Investigations	Farm to Market Pork	Farm to Market Pork	242	\$17.00	\$4,114.00	\$41.14	\$123.42	\$164.56
316	Blade, Adelyn	Norm's News & Western Outdoor	Resale	Resale	250	\$11.00	\$2,750.00	\$27.50	\$82.50	\$110.00
318	Oedekoven, Colton	CM Wiley Inc.	Farm to Market Pork	Farm to Market Pork	263	\$16.00	\$4,208.00	\$42.08	\$126.24	\$168.32
319	Bain, Lux	Glacier Dental Group, PC	Lower Valley Meats	Lower Valley Meats	220	\$16.00	\$3,520.00	\$35.20	\$105.60	\$140.80
320	Druyvestein, Olivia	Whitefish Credit Union	Vandevanter	Vandevanter	281	\$31.00	\$8,711.00	\$87.11	\$261.33	\$348.44
324	Manning, Danny	Montana Fence	Lower Valley Meats	Lower Valley Meats	227	\$15.00	\$3,405.00	\$34.05	\$102.15	\$136.20
326	Ochenrider, Sophia	Les Schwab Tire Columbia Falls	Vandevanter	Vandevanter	275	\$14.00	\$3,850.00	\$38.50	\$115.50	\$154.00
329	Ochenrider, Alaina	Whitefish Credit Union	Vandevanter	Vandevanter	259	\$11.00	\$2,849.00	\$28.49	\$85.47	\$113.96
330	Ochenrider, Samuel	Schellinger Construction	Lower Valley Meats	Lower Valley Meats	256	\$13.00	\$3,328.00	\$33.28	\$99.84	\$133.12
331	Ochenrider, Victoria	Kalispell Kidds	Farm to Market Pork	Farm to Market Pork	268	\$15.00	\$4,020.00	\$40.20	\$120.60	\$160.80
332	Dugan, Tristan	Sunbelt Rentals	Farm to Market Pork	Farm to Market Pork	235	\$11.00	\$2,585.00	\$25.85	\$77.55	\$103.40
333	Barone, Samanta	Kalispell Ford	Vandevanter	Vandevanter	258	\$14.00	\$3,612.00	\$36.12	\$108.36	\$144.48
335	Dugan, Colton	Super One Foods of the Flathead Valley	Vandevanter	Vandevanter	242	\$14.00	\$3,388.00	\$33.88	\$101.64	\$135.52
337	Hankinson, Brynn	Siderius Construction	Vandevanter	Vandevanter	238	\$19.00	\$4,522.00	\$45.22	\$135.66	\$180.88

				-			-			
Ear Tag	Seller Name	Buyer	Ship To	Processor	Weight	Price	Value	Buy Fee	Sell Fee	Total Fee
338	Hankinson, Brookelynn	Siderius Construction	Vandevanter	Vandevanter	243	\$12.00	\$2,916.00	\$29.16	\$87.48	\$116.64
341	Roberts, Jace	Lyman Dust Control of MT, LLC	Vandevanter	Vandevanter	257	\$12.00	\$3,084.00	\$30.84	\$92.52	\$123.36
343	Bartholomew, Jett	Erik Petlz	No Preference	No Preference	259	\$15.00	\$3,885.00	\$38.85	\$116.55	\$155.40
344	Bartholomew, Cruz	Beckman's Real Estate	Lower Valley Meats	Lower Valley Meats	261	\$16.00	\$4,176.00	\$41.76	\$125.28	\$167.04
351	Stolfus, Emily	Dairy Queen - Kalispell	Lower Valley Meats	Lower Valley Meats	243	\$12.00	\$2,916.00	\$29.16	\$87.48	\$116.64
353	Rehbein, Bristol	Northwest Parts & Equipment	Vandevanter	Vandevanter	245	\$15.00	\$3,675.00	\$36.75	\$110.25	\$147.00
355	Rehbein, Asher	Eureka Truss	Vandevanter	Vandevanter	262	\$15.00	\$3,930.00	\$39.30	\$117.90	\$157.20
356	Hinkley, Sydney	Three Rivers Bank	Lower Valley Meats	Lower Valley Meats	246	\$9.00	\$2,214.00	\$22.14	\$66.42	\$88.56
357	Hinkely, Wyatt	The Ranchers Daughter	Farm to Market Pork	Farm to Market Pork	278	\$6.00	\$1,668.00	\$16.68	\$50.04	\$66.72
360	Krueger, Meeka	CHS Mountain West Co- op	Lower Valley Meats	Lower Valley Meats	267	\$16.00	\$4,272.00	\$42.72	\$128.16	\$170.88
363	Barone, Joey	Kalispell Truss Center	Lower Valley Meats	Lower Valley Meats	254	\$20.00	\$5,080.00	\$50.80	\$152.40	\$203.20
365	Hadley, Rhett	Flathead Electric CO-OP	Lower Valley Meats	Lower Valley Meats	258	\$17.00	\$4,386.00	\$43.86	\$131.58	\$175.44
366	Krueger, Tristan	Heritage Custom Farming	Lower Valley Meats	Lower Valley Meats	249	\$10.00	\$2,490.00	\$24.90	\$74.70	\$99.60
369	Ervin, Elaine (Laney)	Kalispell Toyota	Vandevanter	Vandevanter	286	\$15.00	\$4,290.00	\$42.90	\$128.70	\$171.60
370	Ervin, Charlie	Heart & Hands Midwifery	Vandevanter	Vandevanter	286	\$14.00	\$4,004.00	\$40.04	\$120.12	\$160.16

Ear Tag	Seller Name	Buyer	Ship To	Processor	Weight	Price	Value	Buy Fee	Sell Fee	Total Fee
		& Family Healthcare								
372	Shelton, Jacob	Kalispell Alignment & Auto Repair	Vandevanter	Vandevanter	259	\$9.00	\$2,331.00	\$23.31	\$69.93	\$93.24
380	Parish, Case	Glacier Bank - Whitefish	Lower Valley Meats	Lower Valley Meats	254	\$14.00	\$3,556.00	\$35.56	\$106.68	\$142.24
382	Lau, Brody	CHS Mountain West Co- op	Lower Valley Meats	Lower Valley Meats	277	\$12.00	\$3,324.00	\$33.24	\$99.72	\$132.96
388	Gronley, Raya	Parish Plumbing & Heating	Lower Valley Meats	Lower Valley Meats	256	\$14.00	\$3,584.00	\$35.84	\$107.52	\$143.36
389	Gronley, Quindy	Parish Plumbing & Heating	Lower Valley Meats	Lower Valley Meats	279	\$14.00	\$3,906.00	\$39.06	\$117.18	\$156.24
392	Gregg, Carter	SJW Surveying	Lower Valley Meats	Lower Valley Meats	230	\$20.00	\$4,600.00	\$46.00	\$138.00	\$184.00
394	Gregg, Charley	SJW Surveying	Lower Valley Meats	Lower Valley Meats	274	\$17.00	\$4,658.00	\$46.58	\$139.74	\$186.32
395	Sliter, Abby	Lower Valley Processing	Lower Valley Meats	Lower Valley Meats	251	\$19.00	\$4,769.00	\$47.69	\$143.07	\$190.76
396	Sliter, Fisher	Glacier Bank - Lakeside	Lower Valley Meats	Lower Valley Meats	233	\$16.00	\$3,728.00	\$37.28	\$111.84	\$149.12
398	Gerber, Hoyt	Lower Valley Processing	Lower Valley Meats	Lower Valley Meats	263	\$12.00	\$3,156.00	\$31.56	\$94.68	\$126.24
400	Mitchell, Hunter	Lower Valley Processing	Lower Valley Meats	Lower Valley Meats	281	\$8.00	\$2,248.00	\$22.48	\$67.44	\$89.92
401	Mitchell, Caleb	Hammer Bullets	Lower Valley Meats	Lower Valley Meats	278	\$7.00	\$1,946.00	\$19.46	\$58.38	\$77.84
403	Klempel, Ryden	LHC Inc.	Vandevanter	Vandevanter	263	\$15.00	\$3,945.00	\$39.45	\$118.35	\$157.80
405	Miner, Brooke	Northwest Soda & Sand	Lower Valley	Lower Valley	241	\$10.00	\$2,410.00	\$24.10	\$72.30	\$96.40

Ear Tag	Seller Name	Buyer	Ship To	Processor	Weight	Price	Value	Buy Fee	Sell Fee	Total Fee
		Blasting	Meats	Meats						
407	Miner, Dawson	Lodgepole, Inc.	Lower Valley Meats	Lower Valley Meats	251	\$13.00	\$3,263.00	\$32.63	\$97.89	\$130.52
408	Holmes, Elizabeth	Rockwater Enterprises	Lower Valley Meats	Lower Valley Meats	270	\$12.00	\$3,240.00	\$32.40	\$97.20	\$129.60
410	Holmes, Autumn	Lodgepole, Inc.	Lower Valley Meats	Lower Valley Meats	254	\$16.00	\$4,064.00	\$40.64	\$121.92	\$162.56
411	Holmes, Abner	Rockwater Enterprises	Lower Valley Meats	Lower Valley Meats	274	\$6.00	\$1,644.00	\$16.44	\$49.32	\$65.76
414	Benson, Dylan	Montana CAD	Lower Valley Meats	Lower Valley Meats	273	\$12.00	\$3,276.00	\$32.76	\$98.28	\$131.04
415	Harvey, Bryce	Les Schwab Tire Centers of Flathead Valley	Vandevanter	Vandevanter	276	\$6.00	\$1,656.00	\$16.56	\$49.68	\$66.24
418	Horton, Taylor	Kalispell Toyota	Vandevanter	Vandevanter	260	\$15.00	\$3,900.00	\$39.00	\$117.00	\$156.00
420	Benson, Tyler	GPC Inc.	Lower Valley Meats	Lower Valley Meats	257	\$11.00	\$2,827.00	\$28.27	\$84.81	\$113.08
421	Benson, Riley	Glacier Grins Pediatric Dentistry	Lower Valley Meats	Lower Valley Meats	255	\$12.00	\$3,060.00	\$30.60	\$91.80	\$122.40
422	Benson, Emily	Trail West Bank	Vandevanter	Vandevanter	294	\$14.00	\$4,116.00	\$41.16	\$123.48	\$164.64
423	Mordja, Vanessa	The Brace Place	Vandevanter	Vandevanter	259	\$14.00	\$3,626.00	\$36.26	\$108.78	\$145.04
425	Mordja, Josie	Les Schwab Tire Evergreen	Lower Valley Meats	Lower Valley Meats	245	\$16.00	\$3,920.00	\$39.20	\$117.60	\$156.80
428	Woods, Bryce	Kalispell Toyota	Vandevanter	Vandevanter	268	\$16.00	\$4,288.00	\$42.88	\$128.64	\$171.52
429	Mast, Reuben	Lodgepole, Inc.	Lower Valley Meats	Lower Valley Meats	256	\$17.00	\$4,352.00	\$43.52	\$130.56	\$174.08
435	Kauffman,	Glacier Grins Pediatric	Lower Valley	Lower Valley	236	\$11.00	\$2,596.00	\$25.96	\$77.88	\$103.84

Ear Tag	Seller Name	Buyer	Ship To	Processor	Weight	Price	Value	Buy Fee	Sell Fee	Total Fee
	Charolette	Dentistry	Meats	Meats						
437	Kauffman, Sawyer	Seth Price - Mountain West Farm Bureau	No Preference	No Preference	255	\$7.00	\$1,785.00	\$17.85	\$53.55	\$71.40
440	Hafer, Trapper	Sunbelt Rentals	Farm to Market Pork	Farm to Market Pork	239	\$14.00	\$3,346.00	\$33.46	\$100.38	\$133.84
443	McIntyre, Wesley	Sunbelt Rentals	Farm to Market Pork	Farm to Market Pork	251	\$15.00	\$3,765.00	\$37.65	\$112.95	\$150.60
444	Caudill, Taeryn	Thompson Precision	Lower Valley Meats	Lower Valley Meats	223	\$10.00	\$2,230.00	\$22.30	\$66.90	\$89.20
445	Wathan, Justin	Swank Enterprises	Lower Valley Meats	Lower Valley Meats	273	\$10.00	\$2,730.00	\$27.30	\$81.90	\$109.20
447	Wathan, Jarrett	Schellinger Construction	Lower Valley Meats	Lower Valley Meats	252	\$13.00	\$3,276.00	\$32.76	\$98.28	\$131.04
450	Fix, Jason	Les Schwab Tires- Whitefish	Vandevanter	Vandevanter	241	\$15.00	\$3,615.00	\$36.15	\$108.45	\$144.60
452	Chentnik, Abe	Rob Giles Electric	Lower Valley Meats	Lower Valley Meats	226	\$16.00	\$3,616.00	\$36.16	\$108.48	\$144.64
454	Miller, Finn	Stebbins Dental Studio	Lower Valley Meats	Lower Valley Meats	264	\$11.00	\$2,904.00	\$29.04	\$87.12	\$116.16
461	Benson, Kindi	Kalispell Murdoch's	Resale	Resale	238	\$15.00	\$3,570.00	\$35.70	\$107.10	\$142.80
465	Diede, Coben	Kalispell Volkswagon	Vandevanter	Vandevanter	268	\$21.00	\$5,628.00	\$56.28	\$168.84	\$225.12
468	Cheff, Kiley	Hill Brothers Auto Body	Farm to Market Pork	Farm to Market Pork	284	\$12.00	\$3,408.00	\$34.08	\$102.24	\$136.32
469	Diede, Hollister	Montana Helical Piers	Vandevanter	Vandevanter	255	\$20.00	\$5,100.00	\$51.00	\$153.00	\$204.00
470	Diede, Cruz	Express Employment Professionals	Lower Valley Meats	Lower Valley Meats	269	\$19.00	\$5,111.00	\$51.11	\$153.33	\$204.44

Seller Name	Buyer	Ship To	Processor	Weight	Price	Value	Buy Fee	Sell Fee	Total Fee
Van Houten, Clara	QISG	Lower Valley Meats	Lower Valley Meats	268	\$26.00	\$6,968.00	\$69.68	\$209.04	\$278.72
Hayek, Teagan	Big Sky Rents	Farm to Market Pork	Farm to Market Pork	263	\$16.00	\$4,208.00	\$42.08	\$126.24	\$168.32
Benson, Byron	Flathead County Sherriff Employees Association	Lower Valley Meats	Lower Valley Meats	239	\$12.00	\$2,868.00	\$28.68	\$86.04	\$114.72
Aldrich, Emma	Corwin Motors	Lower Valley Meats	Lower Valley Meats	253	\$17.00	\$4,301.00	\$43.01	\$129.03	\$172.04
Benson, Shianne	Bigfork Dental Center	Lower Valley Meats	Lower Valley Meats	252	\$16.00	\$4,032.00	\$40.32	\$120.96	\$161.28
Pheifer, Tessa	H2 Orthodontics	Lower Valley Meats	Lower Valley Meats	254	\$16.00	\$4,064.00	\$40.64	\$121.92	\$162.56
Pheifer, Jaci	Les Schwab Tire Centers of Flathead Valley	Vandevanter	Vandevanter	278	\$20.00	\$5,560.00	\$55.60	\$166.80	\$222.40
Pheifer, Aaron	Valley Bank of Kalispell	Farm to Market Pork	Farm to Market Pork	268	\$14.00	\$3,752.00	\$37.52	\$112.56	\$150.08
Kanna, Bree	Les Schwab Tire Centers of Flathead Valley	Vandevanter	Vandevanter	278	\$6.00	\$1,668.00	\$16.68	\$50.04	\$66.72
Pheifer, Orion	Super One Foods of the Flathead Valley	Vandevanter	Vandevanter	272	\$16.00	\$4,352.00	\$43.52	\$130.56	\$174.08
Allen, Easton	Hammer Bullets	Lower Valley Meats	Lower Valley Meats	263	\$15.00	\$3,945.00	\$39.45	\$118.35	\$157.80
Martin, Silas	Martel Construction	Lower Valley Meats	Lower Valley Meats	239	\$16.00	\$3,824.00	\$38.24	\$114.72	\$152.96
Martin, Ellie	Heart & Hands Midwifery & Family Healthcare	Vandevanter	Vandevanter	279	\$10.00	\$2,790.00	\$27.90	\$83.70	\$111.60
Zemacke, Bella	Mike Fraser Consulting	Lower Valley Meats	Lower Valley Meats	250	\$12.00	\$3,000.00	\$30.00	\$90.00	\$120.00
	Hayek, Teagan Benson, Byron Aldrich, Emma Benson, Shianne Pheifer, Tessa Pheifer, Jaci Pheifer, Aaron Kanna, Bree Pheifer, Orion Allen, Easton Martin, Silas Martin, Ellie	Hayek, Teagan Big Sky Rents Benson, Byron Flathead County Sherriff Employees Association Aldrich, Emma Corwin Motors Benson, Shianne Bigfork Dental Center Pheifer, Tessa H2 Orthodontics Pheifer, Jaci Les Schwab Tire Centers of Flathead Valley Pheifer, Aaron Valley Bank of Kalispell Kanna, Bree Les Schwab Tire Centers of Flathead Valley Pheifer, Orion Super One Foods of the Flathead Valley Allen, Easton Hammer Bullets Martin, Silas Martel Construction Martin, Ellie Heart & Hands Midwifery & Family Healthcare	Hayek, Teagan Big Sky Rents Farm to Market Pork Benson, Byron Flathead County Sherriff Employees Association Meats Aldrich, Emma Corwin Motors Lower Valley Meats Benson, Shianne Bigfork Dental Center Lower Valley Meats Pheifer, Tessa H2 Orthodontics Lower Valley Meats Pheifer, Jaci Les Schwab Tire Centers of Flathead Valley Pheifer, Aaron Valley Bank of Kalispell Farm to Market Pork Kanna, Bree Les Schwab Tire Centers of Flathead Valley Pheifer, Orion Super One Foods of the Flathead Valley Allen, Easton Hammer Bullets Lower Valley Meats Martin, Silas Martel Construction Lower Valley Meats Martin, Ellie Heart & Hands Midwifery Wandevanter Zemacke, Bella Mike Fraser Consulting Lower Valley	Hayek, Teagan Big Sky Rents Farm to Market Pork Pork Dork Benson, Byron Flathead County Sherriff Employees Association Lower Valley Meats Aldrich, Emma Corwin Motors Lower Valley Meats Benson, Shianne Bigfork Dental Center Lower Valley Meats Pheifer, Tessa H2 Orthodontics Lower Valley Meats Pheifer, Jaci Les Schwab Tire Centers of Flathead Valley Pheifer, Aaron Valley Bank of Kalispell Farm to Market Pork Kanna, Bree Les Schwab Tire Centers of Flathead Valley Pheifer, Orion Super One Foods of the Flathead Valley Allen, Easton Hammer Bullets Lower Valley Meats Martin, Silas Martel Construction Lower Valley Meats Martin, Ellie Heart & Hands Midwifery & Vandevanter Vandevanter Zemacke, Bella Mike Fraser Consulting Lower Valley Lower Valley Lower Valley Lower Valley Vandevanter Vandevanter Vandevanter Vandevanter	Hayek, TeaganBig Sky RentsFarm to Market PorkFarm to Market PorkEarm to Market Meats263Benson, ByronFlathead County Sherriff Employees AssociationLower Valley MeatsLower Valley MeatsLower Valley Meats253Aldrich, EmmaCorwin MotorsLower Valley MeatsLower Valley MeatsLower Valley Meats252Benson, ShianneBigfork Dental CenterLower Valley MeatsLower Valley Meats254Pheifer, TessaH2 OrthodonticsLower Valley MeatsLower Valley Meats254Pheifer, JaciLes Schwab Tire Centers of Flathead ValleyFarm to Market PorkFarm to Market Pork278Kanna, BreeLes Schwab Tire Centers of Flathead ValleyVandevanterVandevanter278Pheifer, OrionSuper One Foods of the Flathead ValleyVandevanterVandevanter272Allen, EastonHammer BulletsLower Valley MeatsLower Valley Meats239Martin, SilasMartel ConstructionLower Valley MeatsLower Valley Meats279Zemacke, BellaMike Fraser ConsultingLower ValleyLower ValleyLower Valley	Hayek, TeaganBig Sky RentsFarm to Market PorkFarm to Market Pork263\$16.00Benson, ByronFlathead County Sherriff Employees AssociationLower Valley MeatsLower Valley Meats239\$12.00Aldrich, EmmaCorwin MotorsLower Valley MeatsLower Valley Meats253\$17.00Benson, ShianneBigfork Dental CenterLower Valley MeatsLower Valley Meats252\$16.00Pheifer, TessaH2 OrthodonticsLower Valley MeatsLower Valley Meats254\$16.00Pheifer, JaciLes Schwab Tire Centers of Flathead ValleyVandevanterVandevanter278\$20.00Pheifer, AaronValley Bank of KalispellFarm to Market PorkFarm to Market Pork268\$14.00Kanna, BreeLes Schwab Tire Centers of Flathead ValleyVandevanterVandevanter278\$6.00Pheifer, OrionSuper One Foods of the Flathead ValleyVandevanterVandevanter272\$16.00Allen, EastonHammer BulletsLower Valley MeatsLower Valley Meats263\$15.00Martin, SilasMartel ConstructionLower Valley MeatsLower Valley Meats239\$16.00Martin, EllieHeart & Hands Midwifery & VandevanterVandevanter279\$10.00Zemacke, BellaMike Fraser ConsultingLower ValleyLower ValleyLower Valley250\$12.00	Hayek, TeaganBig Sky RentsFarm to Market PorkFarm to Market Pork263\$16.00\$4,208.00Benson, ByronFlathead County Sherriff Employees AssociationLower Valley MeatsLower Valley Meats239\$12.00\$2,868.00Aldrich, EmmaCorwin MotorsLower Valley MeatsLower Valley Meats253\$17.00\$4,301.00Benson, ShianneBigfork Dental CenterLower Valley MeatsLower Valley Meats252\$16.00\$4,032.00Pheifer, TessaH2 OrthodonticsLower Valley MeatsLower Valley Meats254\$16.00\$4,064.00Pheifer, JaciLes Schwab Tire Centers of Flathead ValleyVandevanter278\$20.00\$5,560.00Pheifer, AaronValley Bank of KalispellFarm to Market PorkFarm to Market Pork268\$14.00\$3,752.00Kanna, BreeLes Schwab Tire Centers of Flathead ValleyVandevanterVandevanter278\$6.00\$1,668.00Pheifer, OrionSuper One Foods of the Flathead ValleyVandevanterVandevanter272\$16.00\$4,352.00Allen, EastonHammer BulletsLower Valley MeatsLower Valley Meats263\$15.00\$3,945.00Martin, SilasMartel ConstructionLower Valley MeatsLower Valley Meats239\$16.00\$3,824.00Martin, EllieHeart & Hands Midwifery & Family HealthcareVandevanterVandevanter279\$10.00\$2,790.00Zemacke, BellaMike Fraser ConsultingLower Valley Lower ValleyLower Valley L	Hayek, Teagan Big Sky Rents Farm to Market Pork Farm to Market Pork 263 \$16.00 \$4,208.00 \$42.08 Benson, Byron Flathead County Sherriff Employees Association Lower Valley Meats Lower Valley Meats 239 \$12.00 \$2,868.00 \$28.68 Aldrich, Emma Corwin Motors Lower Valley Meats Lower Valley Meats 253 \$17.00 \$4,301.00 \$43.01 Benson, Shianne Bigfork Dental Center Lower Valley Meats Lower Valley Meats 252 \$16.00 \$4,032.00 \$40.32 Pheifer, Tessa H2 Orthodontics Lower Valley Meats Lower Valley Meats 254 \$16.00 \$4,064.00 \$40.64 Pheifer, Jaci Les Schwab Tire Centers of Flathead Valley Vandevanter Vandevanter 278 \$20.00 \$5,560.00 \$55.60 Pheifer, Aaron Valley Bank of Kalispell Farm to Market Pork 268 \$14.00 \$3,752.00 \$37.52 Kanna, Bree Les Schwab Tire Centers of Flathead Valley Vandevanter Vandevanter 278 \$6.00 \$1,668.00 \$16.68	Hayek, Teagan Big Sky Rents Farm to Market Pork Farm to Market Pork 263 \$16.00 \$4,208.00 \$42.08 \$126.24 Benson, Byron Flathead County Sherriff Employees Association Lower Valley Meats Lower Valley Meats 239 \$12.00 \$2,868.00 \$28.68 \$86.04 Aldrich, Emma Corwin Motors Lower Valley Meats Lower Valley Meats 253 \$17.00 \$4,301.00 \$43.01 \$129.03 Benson, Shianne Bigfork Dental Center Lower Valley Meats Lower Valley Meats 252 \$16.00 \$4,032.00 \$40.32 \$120.96 Pheifer, Tessa H2 Orthodontics Lower Valley Meats 254 \$16.00 \$4,064.00 \$40.64 \$121.92 Pheifer, Jaci Les Schwab Tire Centers of Flathead Valley Vandevanter Vandevanter 278 \$20.00 \$5,560.00 \$37.52 \$112.56 Pheifer, Aaron Valley Bank of Kalispell Farm to Market Pork Pork \$14.00 \$3,752.00 \$37.52 \$112.56 Kanna, Bree Les Schwab Tire Centers Ore Foods of the Flathead Valley <t< td=""></t<>

				-			-			
Ear Tag	Seller Name	Buyer	Ship To	Processor	Weight	Price	Value	Buy Fee	Sell Fee	Total Fee
498	Sphuler, Jonah	Whitefish Credit Union	Vandevanter	Vandevanter	234	\$10.00	\$2,340.00	\$23.40	\$70.20	\$93.60
499	Braaten, Reid	Jordahl & Sliter	Lower Valley Meats	Lower Valley Meats	275	\$17.00	\$4,675.00	\$46.75	\$140.25	\$187.00
501	Braaten, Bentley	Dale & Mary Hahneman	Farm to Market Pork	Farm to Market Pork	266	\$13.00	\$3,458.00	\$34.58	\$103.74	\$138.32
502	Braaten, Coy	Advanced Refrigeration	Farm to Market Pork	Farm to Market Pork	241	\$17.00	\$4,097.00	\$40.97	\$122.91	\$163.88
504	Braaten, Kase	Rockin WK	Farm to Market Pork	Farm to Market Pork	266	\$12.00	\$3,192.00	\$31.92	\$95.76	\$127.68
507	Rash, Isabelle	Lyman Dust Control of MT, LLC	Vandevanter	Vandevanter	240	\$15.00	\$3,600.00	\$36.00	\$108.00	\$144.00
508	Corrigan, Kadence	Sunbelt Rentals	Farm to Market Pork	Farm to Market Pork	236	\$16.00	\$3,776.00	\$37.76	\$113.28	\$151.04
511	Dyer, William	Three Rivers Bank	Farm to Market Pork	Farm to Market Pork	249	\$14.00	\$3,486.00	\$34.86	\$104.58	\$139.44
513	Dyer, Jacob	Les Schwab Tire Centers of Flathead Valley	Vandevanter	Vandevanter	240	\$6.00	\$1,440.00	\$14.40	\$43.20	\$57.60
515	Dyer, Terry	Western Building Center	Resale	Resale	221	\$15.00	\$3,315.00	\$33.15	\$99.45	\$132.60
516	Adams, Daniel	CHS Mountain West Co- op	Lower Valley Meats	Lower Valley Meats	270	\$15.00	\$4,050.00	\$40.50	\$121.50	\$162.00
517	Davis, Cruz	Lazy R & R Ranch Supply	No Preference	No Preference	223	\$15.00	\$3,345.00	\$33.45	\$100.35	\$133.80
519	Davis, Payzlie	Pavement Maintenance Solutions	Lower Valley Meats	Lower Valley Meats	229	\$15.00	\$3,435.00	\$34.35	\$103.05	\$137.40
520	Fritz, Lance	Swank Enterprises	Lower Valley Meats	Lower Valley Meats	272	\$13.00	\$3,536.00	\$35.36	\$106.08	\$141.44
524	Davidson, Ryan	Three Rivers Dental	Lower Valley Meats	Lower Valley Meats	229	\$13.00	\$2,977.00	\$29.77	\$89.31	\$119.08

Ear Tag	Seller Name	Buyer	Ship To	Processor	Weight	Price	Value	Buy Fee	Sell Fee	Total Fee
527	Hunter, Logan	Kalispell Ford	Vandevanter	Vandevanter	246	\$17.00	\$4,182.00	\$41.82	\$125.46	\$167.28
529	Hunter, Carson	Hammer Bullets	Lower Valley Meats	Lower Valley Meats	266	\$17.00	\$4,522.00	\$45.22	\$135.66	\$180.88
532	Ottosen, Torin	Les Schwab Tire Center Street	Vandevanter	Vandevanter	224	\$14.00	\$3,136.00	\$31.36	\$94.08	\$125.44
533	Heino, Lander	Mr. Rooter Plumbing	Lower Valley Meats	Lower Valley Meats	268	\$17.00	\$4,556.00	\$45.56	\$136.68	\$182.24
535	Hafer, Ranger	Tyler & Jenny Johnson	Lower Valley Meats	Lower Valley Meats	251	\$21.00	\$5,271.00	\$52.71	\$158.13	\$210.84
538	Ottosen, Renny	FH Stoltze Land & Lumber Co.	Vandevanter	Vandevanter	241	\$10.00	\$2,410.00	\$24.10	\$72.30	\$96.40
539	DeLong, Aiden	Pioneer Heating & Cooling	Lower Valley Meats	Lower Valley Meats	230	\$15.00	\$3,450.00	\$34.50	\$103.50	\$138.00
540	DeLong, Emma	Doepker Landscape, Inc. / Hansen Excavating	Lower Valley Meats	Lower Valley Meats	231	\$19.00	\$4,389.00	\$43.89	\$131.67	\$175.56
542	Reed, Michael	Sands Surveying, Inc.	Farm to Market Pork	Farm to Market Pork	235	\$8.00	\$1,880.00	\$18.80	\$56.40	\$75.20
543	Reed, Addyson	Flathead Concrete Products	Lower Valley Meats	Lower Valley Meats	238	\$15.00	\$3,570.00	\$35.70	\$107.10	\$142.80
545	Dose, Emmitt	Glacier Bank - Kalispell	Lower Valley Meats	Lower Valley Meats	253	\$17.00	\$4,301.00	\$43.01	\$129.03	\$172.04
550	Gardner, Walter	Crone Pro Seal	Lower Valley Meats	Lower Valley Meats	257	\$16.00	\$4,112.00	\$41.12	\$123.36	\$164.48
551	Gardner, Charlie	Thompson Precision	Lower Valley Meats	Lower Valley Meats	256	\$18.00	\$4,608.00	\$46.08	\$138.24	\$184.32
552	Gardner, Norman	Sliters Lumber & Building Supply	Lower Valley Meats	Lower Valley Meats	236	\$14.00	\$3,304.00	\$33.04	\$99.12	\$132.16

Ear Tag	Seller Name	Buyer	Ship To	Processor	Weight	Price	Value	Buy Fee	Sell Fee	Total Fee
555	Valdespino, Phinney	Lodgepole, Inc.	Lower Valley Meats	Lower Valley Meats	238	\$14.00	\$3,332.00	\$33.32	\$99.96	\$133.28
556	Willis, Wade	Sliters Lumber & Building Supply	Lower Valley Meats	Lower Valley Meats	279	\$13.00	\$3,627.00	\$36.27	\$108.81	\$145.08
557	Banzet, Sophie	Sandry Construction Co.	Farm to Market Pork	Farm to Market Pork	249	\$18.00	\$4,482.00	\$44.82	\$134.46	\$179.28
558	Wirth, Cecilia	Schellinger Construction	Lower Valley Meats	Lower Valley Meats	250	\$11.00	\$2,750.00	\$27.50	\$82.50	\$110.00
560	Heuscher, Kensley	Les Schwab Tire Center Street	Vandevanter	Vandevanter	252	\$16.00	\$4,032.00	\$40.32	\$120.96	\$161.28
561	Heuscher, Beckett	Bitney's Furniture	Lower Valley Meats	Lower Valley Meats	242	\$14.00	\$3,388.00	\$33.88	\$101.64	\$135.52
563	DeZort, Braylee	Rob Giles Electric	Lower Valley Meats	Lower Valley Meats	263	\$17.00	\$4,471.00	\$44.71	\$134.13	\$178.84
564	Hook, Millie	Glacier Grins Pediatric Dentistry	Lower Valley Meats	Lower Valley Meats	236	\$11.00	\$2,596.00	\$25.96	\$77.88	\$103.84
567	Peters, Madison	Wilkinson Construction	Vandevanter	Vandevanter	246	\$18.00	\$4,428.00	\$44.28	\$132.84	\$177.12
568	Peters, Brady	Wilkinson Construction	Vandevanter	Vandevanter	231	\$15.00	\$3,465.00	\$34.65	\$103.95	\$138.60
570	Wager, Tayt	Glacier Precast Concrete	Lower Valley Meats	Lower Valley Meats	257	\$6.00	\$1,542.00	\$15.42	\$46.26	\$61.68
571	Glimm, Annah	Sands Surveying, Inc.	Farm to Market Pork	Farm to Market Pork	244	\$8.00	\$1,952.00	\$19.52	\$58.56	\$78.08
579	Crofts, Jase	Stockman Bank	No Preference	No Preference	232	\$14.00	\$3,248.00	\$32.48	\$97.44	\$129.92
583	Crofts, Joslyn	Trail West Bank	Vandevanter	Vandevanter	251	\$10.00	\$2,510.00	\$25.10	\$75.30	\$100.40
586	Dowler, Evelyn	RDO Equipment	Resale	Resale	231	\$9.00	\$2,079.00	\$20.79	\$62.37	\$83.16
587	Rose, Harper	Recovery Ctrs of Montana	Lower Valley	Lower Valley	254	\$13.00	\$3,302.00	\$33.02	\$99.06	\$132.08

Ear Tag	Seller Name	Buyer	Ship To	Processor	Weight	Price	Value	Buy Fee	Sell Fee	Total Fee
			Meats	Meats						
589	Hagadone, Trevor	Super One Foods of the Flathead Valley	Vandevanter	Vandevanter	262	\$6.00	\$1,572.00	\$15.72	\$47.16	\$62.88
591	Baldwin, Korbin	The Brace Place	Vandevanter	Vandevanter	254	\$14.00	\$3,556.00	\$35.56	\$106.68	\$142.24
594	Sutton, Ryker	RDO Equipment	Resale	Resale	275	\$12.00	\$3,300.00	\$33.00	\$99.00	\$132.00
595	Polly Hagadone, Tracy	Kalispell Electric Inc.	Vandevanter	Vandevanter	277	\$8.00	\$2,216.00	\$22.16	\$66.48	\$88.64
598	Luce, Terra	Mr. Rooter Plumbing	Lower Valley Meats	Lower Valley Meats	278	\$10.00	\$2,780.00	\$27.80	\$83.40	\$111.20
600	Jones, Samantha	D. A. Davidson	Vandevanter	Vandevanter	224	\$12.00	\$2,688.00	\$26.88	\$80.64	\$107.52
603	Boucher, Louis	Montana Helical Piers	Vandevanter	Vandevanter	249	\$8.00	\$1,992.00	\$19.92	\$59.76	\$79.68
604	Hagadone, Trevalion	Intergrity Property Management	Lower Valley Meats	Lower Valley Meats	266	\$14.00	\$3,724.00	\$37.24	\$111.72	\$148.96
606	Berglund, Wylee	Glacier Precast Concrete	Lower Valley Meats	Lower Valley Meats	240	\$8.00	\$1,920.00	\$19.20	\$57.60	\$76.80
607	Erickson, Espen	Schellinger Construction	Lower Valley Meats	Lower Valley Meats	258	\$16.00	\$4,128.00	\$41.28	\$123.84	\$165.12
610	McIntyre, Jayden	Les Schwab Tire Evergreen	Farm to Market Pork	Farm to Market Pork	236	\$18.00	\$4,248.00	\$42.48	\$127.44	\$169.92
611	McIntyre, Cabella	Kalispell Kidds	Farm to Market Pork	Farm to Market Pork	245	\$17.00	\$4,165.00	\$41.65	\$124.95	\$166.60
613	McIntyre, Tracen	Sliters Lumber & Building Supply	Lower Valley Meats	Lower Valley Meats	252	\$13.00	\$3,276.00	\$32.76	\$98.28	\$131.04
617	Toren, Brynnlea	DeShazen Toren & Bailey CPAs	Vandevanter	Vandevanter	241	\$16.00	\$3,856.00	\$38.56	\$115.68	\$154.24
618	Newton, Miel	Glacier Grins Pediatric	Lower Valley	Lower Valley	251	\$12.00	\$3,012.00	\$30.12	\$90.36	\$120.48

Ear Tag	Seller Name	Buyer	Ship To	Processor	Weight	Price	Value	Buy Fee	Sell Fee	Total Fee
		Dentistry	Meats	Meats						
619	Daychild, Brody	QISG	Lower Valley Meats	Lower Valley Meats	237	\$16.00	\$3,792.00	\$37.92	\$113.76	\$151.68
622	Newton, Haven	SCHLEGEL ENTERPRISE	Vandevanter	Vandevanter	251	\$15.00	\$3,765.00	\$37.65	\$112.95	\$150.60
624	Labrum, Ella	Glacier Law Firm	Vandevanter	Vandevanter	232	\$10.00	\$2,320.00	\$23.20	\$69.60	\$92.80
627	Ward, Burton	Glacier Precast Concrete	Lower Valley Meats	Lower Valley Meats	226	\$11.00	\$2,486.00	\$24.86	\$74.58	\$99.44
632	McQuade, Cara	Stockman Bank	No Preference	No Preference	262	\$10.00	\$2,620.00	\$26.20	\$78.60	\$104.80
634	McQuade, Peyton	Columbia Falls Murdoch's	Resale	Resale	271	\$10.00	\$2,710.00	\$27.10	\$81.30	\$108.40
636	Martin, Madysen	The Homestead	Farm to Market Pork	Farm to Market Pork	257	\$19.00	\$4,883.00	\$48.83	\$146.49	\$195.32
637	Martin, Olivia	The Homestead	Farm to Market Pork	Farm to Market Pork	276	\$10.00	\$2,760.00	\$27.60	\$82.80	\$110.40
640	Christianson, Octavious	Corwin Motors	Lower Valley Meats	Lower Valley Meats	254	\$7.50	\$1,905.00	\$19.05	\$57.15	\$76.20
641	Sorensen, Sidni	H2 Orthodontics	Lower Valley Meats	Lower Valley Meats	254	\$17.00	\$4,318.00	\$43.18	\$129.54	\$172.72
643	Sorensen, Sawyer	Les Schwab Tire Columbia Falls	Vandevanter	Vandevanter	262	\$13.00	\$3,406.00	\$34.06	\$102.18	\$136.24
645	Lockhart, Emily	Angie's Montana Home Journeys	Lower Valley Meats	Lower Valley Meats	281	\$7.00	\$1,967.00	\$19.67	\$59.01	\$78.68
647	Newton, James	Three Rivers Bank	Farm to Market Pork	Farm to Market Pork	241	\$14.00	\$3,374.00	\$33.74	\$101.22	\$134.96
649	Ypma, Levi	Hill Brothers Inc.	Farm to Market Pork	Farm to Market Pork	280	\$17.00	\$4,760.00	\$47.60	\$142.80	\$190.40
650	Ypma, Silas	Corwin Motors	Farm to Market	Farm to Market	259	\$21.00	\$5,439.00	\$54.39	\$163.17	\$217.56

Ear Tag	Seller Name	Buyer	Ship To	Processor	Weight	Price	Value	Buy Fee	Sell Fee	Total Fee
			Pork	Pork						
651	Ypma, Clive	Stebbins Dental Studio	Lower Valley Meats	Lower Valley Meats	248	\$20.00	\$4,960.00	\$49.60	\$148.80	\$198.40
653	Manning, Kellan	Montana Helical Piers	Vandevanter	Vandevanter	266	\$8.00	\$2,128.00	\$21.28	\$63.84	\$85.12
654	Morris, Jenna	Rob Giles Electric	Lower Valley Meats	Lower Valley Meats	256	\$18.00	\$4,608.00	\$46.08	\$138.24	\$184.32
656	Mills, Levi	Montana Fence	Lower Valley Meats	Lower Valley Meats	241	\$17.00	\$4,097.00	\$40.97	\$122.91	\$163.88
735	Miller, Alexander	Kalispell Electric Inc.	Vandevanter	Vandevanter	258	\$7.00	\$1,806.00	\$18.06	\$54.18	\$72.24
736	Pliley, Chaise	Tamarack Earthworks	Farm to Market Pork	Farm to Market Pork	242	\$19.00	\$4,598.00	\$45.98	\$137.94	\$183.92
738	Schreckendgust, Macie	Pioneer Heating & Cooling	Lower Valley Meats	Lower Valley Meats	267	\$16.00	\$4,272.00	\$42.72	\$128.16	\$170.88
741	Piseno, Alexa	Jake Berry w/ Engel & Volkers	Farm to Market Pork	Farm to Market Pork	239	\$12.00	\$2,868.00	\$28.68	\$86.04	\$114.72
742	Hadley, Ruby	CHS Mountain West Co- op	Lower Valley Meats	Lower Valley Meats	267	\$15.00	\$4,005.00	\$40.05	\$120.15	\$160.20
744	Keller, Dakota	Alert Security & Investigations	Farm to Market Pork	Farm to Market Pork	222	\$12.00	\$2,664.00	\$26.64	\$79.92	\$106.56
745	Lake, Hunter	Dale & Mary Hahneman	Resale	Resale	259	\$10.00	\$2,590.00	\$25.90	\$77.70	\$103.60
748	Thompson, Baylie	Pioneer Heating & Cooling	Lower Valley Meats	Lower Valley Meats	237	\$15.00	\$3,555.00	\$35.55	\$106.65	\$142.20
751	Hayes, Lilian	Bitney's Furniture	Lower Valley Meats	Lower Valley Meats	236	\$10.00	\$2,360.00	\$23.60	\$70.80	\$94.40
752	Hunt, Ace	Diamond Plumbing & Heating, Inc.	Lower Valley Meats	Lower Valley Meats	231	\$11.00	\$2,541.00	\$25.41	\$76.23	\$101.64

	·									
Ear Tag	Seller Name	Buyer	Ship To	Processor	Weight	Price	Value	Buy Fee	Sell Fee	Total Fee
754	McClatchey, Abbie	Kalispell Ford	Vandevanter	Vandevanter	248	\$9.00	\$2,232.00	\$22.32	\$66.96	\$89.28
756	Mullens, Jazmine	Kalispell Toyota	Vandevanter	Vandevanter	226	\$8.00	\$1,808.00	\$18.08	\$54.24	\$72.32
758	Aaker, Tyler	McDonald's of the Flathead Valley	Lower Valley Meats	Lower Valley Meats	245	\$10.00	\$2,450.00	\$24.50	\$73.50	\$98.00
764	Flint, Teagen	Les Schwab Tire Centers of Flathead Valley	Vandevanter	Vandevanter	272	\$6.00	\$1,632.00	\$16.32	\$48.96	\$65.28
766	Greene, Tayler	LH Contracting LLC	Lower Valley Meats	Lower Valley Meats	267	\$11.00	\$2,937.00	\$29.37	\$88.11	\$117.48
767	Greene, Jordyn	Missing Horn Ranch	Lower Valley Meats	Lower Valley Meats	273	\$14.00	\$3,822.00	\$38.22	\$114.66	\$152.88
769	Gerber, Aubree	Northwest Drywall & Roofing Supply	Lower Valley Meats	Lower Valley Meats	255	\$15.00	\$3,825.00	\$38.25	\$114.75	\$153.00
771	Sphuler, Katelyn	Kalispell Kreamery Inc.	Farm to Market Pork	Farm to Market Pork	272	\$15.00	\$4,080.00	\$40.80	\$122.40	\$163.20
772	Real, Nicole	Sandry Construction Co.	Farm to Market Pork	Farm to Market Pork	241	\$14.00	\$3,374.00	\$33.74	\$101.22	\$134.96
773	Barone, Manny	Shepards Glass	Lower Valley Meats	Lower Valley Meats	259	\$15.00	\$3,885.00	\$38.85	\$116.55	\$155.40
776	Elgin, Josie	Land Tech Landscaping	Lower Valley Meats	Lower Valley Meats	259	\$6.00	\$1,554.00	\$15.54	\$46.62	\$62.16
777	Heino, Jackson	RDJ Brothers Construction	Lower Valley Meats	Lower Valley Meats	267	\$12.00	\$3,204.00	\$32.04	\$96.12	\$128.16
780	Hawbaker, Joselyn	Sunbelt Rentals	Farm to Market Pork	Farm to Market Pork	253	\$24.00	\$6,072.00	\$60.72	\$182.16	\$242.88
784	Davis, Kinzey	Pavement Maintenance Solutions	Lower Valley Meats	Lower Valley Meats	255	\$17.00	\$4,335.00	\$43.35	\$130.05	\$173.40
786	Hall, Emily	Trail West Bank	Vandevanter	Vandevanter	279	\$15.00	\$4,185.00	\$41.85	\$125.55	\$167.40

787 Lund, Ella Glacier Precast Concrete Lower Valley Meats Lower Valley Meats 241 \$15.00 \$3,615.00 \$36.15 \$108.45 \$144.60 789 Libby, Anna Spoklie's Vandevanter Vandevanter 236 \$16.00 \$3,776.00 \$37.76 \$113.28 \$151.04	Ear Tag	Seller Name	Buyer	Ship To	Processor	Weight	Price	Value	Buy Fee	Sell Fee	Total Fee
789 Libby, Anna Spoklie's Vandevanter Vandevanter 236 \$16.00 \$3,776.00 \$37.76 \$113.28 \$151.04	787	Lund, Ella	Glacier Precast Concrete	,	,	241	\$15.00	\$3,615.00	\$36.15	\$108.45	\$144.60
	789	Libby, Anna	Spoklie's	Vandevanter	Vandevanter	236	\$16.00	\$3,776.00	\$37.76	\$113.28	\$151.04

Avg: \$13.73 Min: \$6.00 Max: \$31.00

Total: \$671,790.00 \$6,717.90 \$20,153.70 \$26,871.60